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QUESTION 1
Youareprovide with the following;
o Twodrycells
o Onebulb
o Voltmeter (0 -3voro-5v)
¢ Ammeter (0-2.54)
o Amounted nichrome wire on millimetre scale;
o Switch
o Sevenconnecting wireatleasttwo with crocodile clips.
o Micrometerscrew gauge
Procedure as follows:

1) (i) Setup the circuitas shown in figure below;
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i) With the crocodile clip at Ptake the voltmeterreading and the ammeterreading. Record Vand
[.Repeatthereadings for®=80,60,40,20and 0 cm respectively.Complete the table below;

©

Length L (cm) 100 80 60 40 20 0
Voltage V (v)
Current, [ (A)

(4mks)
(ii]) Whatchangesdoyouobserveon thebulbasLl decreases from P ? (Imk)



(iv)Plotagraphofthe ammeterreading (y = axis)againstvoltmeterreading (5mks)
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v)Determine the slope of your graphat V==1volt (3mks)

(vi)Whatphysical quantity isrepresented by the slope of the graph atany given point.?
(Imk)



b) (i) Given the apparatusina (i)above, draw adiagram ofthe a circuityou would use to
determine the currentthrough the resistance wire and the potentialdifference across it.
(Imk)

(ii) Setup the circuityou have drawn.Record the ammeterreading land the voltmeter

reading
VowhenL=100cm. (Zmks)
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(ifi)Using amicrometer screwgauge, measure thesdgdameterd ofthe wire. (Imk)

(iv)  Calculate the quantity,
p=0.785 [VJ[dZJ and give its units, where L isone metre. (2mks)
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QUESTION2. You areprovided with the following;
o ACompleteretortstand
o A Stop watch/stop clock
o A Metrerule
o Twoidenticalspringslabeled R and P.
o A Weighingbalance (to beshared)
o ASetofmasses10g,20¢g,50gand 100¢
o APendulum bob
Proceed as follows
a. Join springs R and P inparallelso thatithasonly onehookatoneendandthenarrange
the apparatus as shown in the figure below .
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B B Metre rule

Spring R

Spring P

Pointer

Hook

Retort stand

Noteand record the initialpointerreading.
Initial pointer Teading = o v o i s o O AT
(Thismark should be maintained throughoutthe experiment)
b. Hangthe30gmassonthehookofthecombined spatngbalanceand record the final
pointerreading.Hence calculate the extensiomjeform =30g.
¢c. Withmass,m =30g, stillsuspended,slightlyisplace the massvertically and time 20
complete oscillations
d. Repeattheexperimentform =50,705000,120 and 150¢g and record yourresultsin the
table below.

Massm (g) Extensione (cm) |eu) Time,t, for 20 Periodic time, |T2(s?)
complete oscillations | T (s)

30

50

70

100

120

150

(7Tmks)

£ (i) On the grid provided, plota graph ofe(x - axis)againstT? (5 mks)
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ii)detq\@inetheslope,S,ofthegraph. (2 mks)
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f. Iftheexperimentobeysthelaw T = K where kisaconstant, determine the value
of b (TI=3.142) (2 mks)



g.

Weigh and record the massofthe pendulum bob provided.

Mass,m ofpendulum Dob = v e e T i o e K
(1 mk)

Suspend the pendulum bob onthe combined springbalance and note the extension
produced.

e e T N P L | P |
(I mk)
mg . . .
Ifv=—wherem =massofthe pendulum bob and e istheextension produced,find
(]
the value of v where visthe elasticconstantofthe springs. (2 mks)





